Empowering Students www.freekcsepastpapers.com
FORM 1
2HRS 30MINS   TOTAL MARKS 100
NAME…………………………….ADM …………………………SCH………………………

INSTRUCTIONS:

ATTEMPT ALL THE QUESTIONS IN THE SPACES PROVIDED
1. a) What is meant by the term biology?  






  (1mk)

b) State the name given to the study of;
(i)The cell










 (1mk)

(ii)Micro-organisms.









(1mk)

2. State one use of each of the following apparatus in the study of living organisms

a)Pooter










  (1mk)

b)Pitfall










  (1mk)

3.)A motor vehicle is able to move and  break down fuel  to carbon(IV)oxide and water,yet it is not classified as living thing. List two other characteristics of living things not shown by a motor vehicle.










(2mks)

4a) Some students set up an experiment as shown in the diagram below;
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29  When examining cells from an unidentified rabbit organ under an electron microscope you find that
most cells are rich in rough endoplasmic reticulum and Golgi bodies. What does this tell you about
the organ?

210 (a) How do plant cell walls differ from cell membranes?
(b) What is the main function of the very thick-walled cells in the stem of a plant?

211 Arrange the following in the correct order from the smallest to the largest:
Tissue, cell, organism, organelle, organ system, organ.

212 The diagram below shows a type of epithelial tissue:

(a) What is the name of the hair-like processes?

(b) What is the function of the hair-like processes?
(c) Name two mammalian organs where this type of
epithelium is found.

213 The figure below is an electron micrograph of an organelle that is found in many cells:

(a) Name the organelle.

(b) What is its main function?

(¢) What is the importance of the infoldings in the
inner membrane?

(d) List the membranes that a molecule must pass
through as it moves from the external medium to the
matrix of the organelle.

(e) Give two examples of cells where you would
expect to find many such organelles.

214 With reference to plant cells, complete the table below by filling in column II the name of the
structure that corresponds with the statement in column .

COLUMN I
1. Contains the pigment that traps solar energy.

5 Contains the chemical compound that is responsible for
ansmitting hereditary information.

3. Acts as a selective barrier between the cell and its surroundings.

molecular we_ight_polxsaccharide.

cellular ATP.
6. Contains most of the cellular solutes.





    SET UP A






SET UP B.
(a)Name the process the students were investigating 




(1mk)

(b)Account for the results obtained







(3mks)
(c)The diagram below depicts a structure that is very vital to a living organism;
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(i)Identify the structure








  (1mk)

(ii)Name the part labeled A, B, C and D






(4mks)

       A…………………………………………..
      B……………………………………………

      C…………………………………………..
     D……………………………………………

(d)Explain how the following factors affect the functioning of the structure


(3mks)

(i)Temperature

(ii)PH
(iii)Electric current

5a) What type of membrane is the visking tubing? 





  (1mk)

(c)Give the differences between the visking tubing and real cell membrane
.

  (1mk)
6. Define the term species             







  (1mk)
 (b)Explain why a leopard and a lion cannot breed yet they belong to the same genus.         (1mk)

7. Distinguish between 

  (a)common names and scientific names of living organisms          



(2mks)

(b)Taxonomy and taxon                                                                           


(2mks)

8.(a) Which organelle would be abundant in                                                                         (2mks)

    (i)Skeletal muscle cell

     (ii)Palisade cell

(b)State at least four activities of the cell that are controlled by the nucleus      

(4mks)
9.(a)A drawing of 6cm in length, was made of a bettle whose actual length was 2cm.Calculate the magnification of drawing.








(2mks)
(b)Explain why only the fine adjustment knob should be used when focusing a specimen using the high power objective lens of the light microscope 




(2mks)
10.a)State one function of each of the following cell organelles.

 (a)Golgi apparatus                            







 (1mk)
(b)Lysosomes                                      






(1mk)
11.The diagram below is a set-up for an experiment to demonstrate a certain physiological 
process.
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(a)What nature of a solution is represented by 20% sugar solution?   


 (1mk)
(b) Explain observations on the set-up after one hour.  




(2mks)
12.What is meant by each of the following terms ? 
         (i) crenated cell               







 (1mk)

       (ii)Flaccid cell                   







(1mk)

13.When examining an unidentified rabbit organ under an electron microscope,you find that most cells are rich in rough endoplasmic reticulum and the golgi bodies. What does this tell you about the organ?









(1mk)
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14.)The diagram below shows a type of epithelial tissue:
(a)What is the name of the hair-like process?






(1mk)
(b)What is the function of the hair-like process?





(1mk)

15.(a)How is the cell membrane adapted to its functions   



 
(3mks)
16.a)What is the significance of  diffusion to plant pollination 



(1mk)

 b) Is diffusion an energy –driven process? Explain.      



            (2mks)
c)A student at Kwale secondary observed that when sodium chloride was poured onto grass, the grass dried up. Explain this observation in relation to osmosis.   



(3mks)
17. How do plant cell walls differ from cell membranes? 




  (3mk)
18.A scientific space craft brought a material to earth from outer space. Explain how we would establish if the materials are:

 (i)Living or non-living         







            (3mks)

19.) Complete the following table showing branches of biology;


           (4mrks)
	Branch of Biology 
	Name of the scientist
	Nature of study

	Zoology
	
	

	
	
	Study of plants

	
	Taxonomist
	

	Ecology
	
	

	
	
	


20.) The scientific name of   Lantana    camara refers to a green herbaceous plant. Other related  include: Lantana rifoliate and Vitex rifoliate
a)From the list, identify the plant belonging to the same genus.



(2mks)
b)From the name Lantana  camara, which name represents




(2mks)

i)Genus name---------------

ii)Specific name---------------- 
21a)Name two laboratory chemicals used to stain plant cells in micro-biology.

(2mks)
(b)Explain the importance of the following procedure when preparing temporary slides for observation under a light microscope.

(i)Cutting very thin sectors







              (1mk)

(ii)Cutting the specimen with sharp razor






(1mk)
22.)In an analysis of plants growing in pond water, a student noticed that K+ions were always higher in the cell sap  than in the pond water yet the plant was still able to absorb water.

a)Suggest a physiological process that made this possible




(1mk)

b)Name the factors that would affect  the movement of K+  in a cell



(2mks)
23.)A student  noticed that starch solution react with iodine solution to form a blue-black precipitate. He then proceeded to set up an experiment with starch solution in visking tubing. He immersed both visking tubes in a beaker of distilled water taking care that the two visking tubes did not touch as shown below.
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After 12 hours, the student made the following observations
[image: image5.png]Glass rod

Yellow-brown
~~ solution
Blue- K
black pale
solution yellow

At the end




          A)Starch solution had turned blue-black

          B)The visking tube with iodine solution remained yellow/brown
         C)Water in the beaker had turned pale yellow

(i)Explain why the solution in the beaker had turned brown




  (1mk)

(ii)When a little starch is added to the water in the beaker,  blue-black solution was formed. Explain the observation








  (1mk)

(iii)Why did the solution in the beaker  not changed in colour to blue-black

  (1mk)

(iv)Explain the results obtained in the visking tube that obtained the starch solution           (2mks)

24.)Differentiate between protoplast and protoplasm





(2mks)
25a)What do you understand by the term resolution of a microscope


  (1mk)

(b)Differentiate between light  microscope and electron microscope     


(4mks)

26.)Differentiate between osmosis and diffusion





(3mks)
27a)Distinguish between haemolysis and plasmolysis




(2mks)

(b)Name the type of movement that occur within a plant cell



  (1mk)

28.)The diagram below shows a cell as observed under a microscope 
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(1 mark)

d, it curls its leaves. Name this type of response.

(b) If Mimosa pudica is touche
tion of a certain part of a flowering plant.

W >

(a) Identify the part of the plant from which the cross section was obtained. (1 mark)
(b) What tissues are represented by A and B. (2 marks)
21. Define a species. : (1 mark)
72. Name the hormones that stimulate the process of metamorphosis in insects. (1 mark)
23. The protozoan Trypanosoma causes diseases both to man and cattle. Name the respective (2 marks)
diseases.
24. The diagram below shows a cell as observed under a microscope.
—A
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B
C
T “
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= JO( :
(a) Identify the cell. i \ '« ! (1 mark)
I 1
(b) Name the parts labelled A and C. ; /S } (2 marks)
5. What is natural selection? B '\\r\/ f:;‘[’ (1 mark)
= = = .:V\i; i "‘:/
26. Name two changes that occur in the cell during interphase stage-=ze.. SR (2 marks)
27
‘ ' \ Cytoplasm
M% L Cell membrane
£ Nucleus Solution A Solution B
The diagrams above show two plant cells placed in different solutions, A and B.
the cell in the beaker containing solution A. (2 marks)

(a) Name the process that is taking place in
(b) Thecellin solution A is said to be : : (1 mark)

, the cell membrane is pressing against the cell wall.

(c) Inthe beaker containing solution B
The cell is said to be (1 mark)
28. Name the relationship that occurs between the bacteria and root nodules in leguminous plants. (2 marks)
29. Distinguish between digestion and oxidation. (2 marks)
(3 marks)

30. Complete the table below.

Hormone Effect in human beings
Luteinising o s on o S ol s

21

!





(a)Identify the cell









  (1mk)

(b)Name the parts labeled A and B    







(2mks)


29.)Give the functions of the following parts of a microscope.  



(4mks)

	Structure
	Function

	Eye piece

Revolving nose piece

Condenser

Stage
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